VPH-1§71Q

M-1271

TABLE OF CONTENTS

Section Title Page

1. GENERAL
1-1.  Location and Function of Controls «-«««---«-ssesseerrecrenees 6
1-2. Installation Diagrams .............................................. 13
1-3. Modifications of Partg-«:ccccsreeresecronerotsnioncrrciiscaiocaes 20
1-4.  When Installation does not Comply with Standard

MeEASUTEIMENLS »++c ot esereerrrerseerseraternreruasrueroneasseness 31
1-5. Notes on SCl'CCn ....................................... [ETTTTTTTTI RN 36
1-6.  Dynamic Picture Setting:--eoeeeeererreciniiiiiniiiin, 39
1-7. Connecting to the Projector Directly «+--««-+ce-eeeeereeeneenn. 41
1-8.  Connecting when the Projector is Away from Other

Equipment ............................................................ 44
1-9.  Connecting More than Four Input Sources«---«-++ceseeuee 46
1-10. Before Stanlng Adjustment ...................................... 49
1-11. Remote Control Operation ....................................... 50
1-12. Projecting:re--eeessseersensesmrerininiiiniiiiiiiennncneeenees 54
1-13. Centedng Adjugtmcnt ............................................. 63
1-14.  Adjustment Displays and Test Patterns:««+-+--cceerreeenes 65
1-15. Ad justment Procedures :«-+coteeereriinieniiiiiiiiiiiiiiiiian, 67
1-16. Lens Focus Adjustmcnt ........................................... 68
1-17. Registmtion Adjustmcnt .......................................... 73
1-18. Fine Adjustment of Each Input signal ------+-++-+0000eneennee 97
1-19. Data Reset +weveesersssmnierinnnminnninc e 103
1-20. To Activate the Protection on the Remote

Commander .......................................................... 105
1-21. Picture Adjustment ................................................. 106
1-22. Various Sc"ings .................................................... 107
1-23. List of the Messages ............................................... 108
1-24. List of Washers Used for Non-standard Installation -++-+ 112
1-25. Projection Distance by Angle of Optical Axis:«+--+«++++-+ 115
2. DISASSEMBLY
2-1.  Cabinet and Lens Removal -««--tscrreerseererernrineeneiinnnees 117
2-2.  Picture Tube Removal ss-+:-s-cssrereriiariniiineniiininnuiinen, 117
2-3.  Power Block Removal (PA, K and NB Boards) -+« 118
2-4.  High-Voltage Block Assembly Removal -+eoeccoeeeeeniieen 118
2-5.  Interface Unit, BA, BC and BB Boards Removal-++++++- 119
2-6. CFA, CFB, CA (RG) and CA (B) Boards Removal+++--- 120
2-7. Y, DA, DB, DM, DD and DE Boards Removal -+«-++++++- 121
2-8. MI1, M2 and M3A Boards Removal:+««---cereerererenranennn. 122
2-9.  Attachment Direction of the DC Fan «-++eeeeeeeererereeicninns 123
3. CIRCUIT DESCRIPTIONS
3-1. Circuit ‘Opemtion Of BA Board: -« seesreecereersrenrennsinornans 125
3-2.  Circuit Operation of BB Board: = -++esrerertverienarinieniinias 129
3-3.  Circuit Operation of CA (RG) and CA (B) Boards -++++++: 133
3-4.  Circuit Operation of DA Board «-+--++esveeeerssssssunicnenes, 140
3-5.  Circuit Operation of DB Board:«+«++++++seeeeesmmmuinciiiiinee 149
3-6.  Circuit Operation of DD Board «++++-++eereeeessinininunniees 151
3-7. Circuit Operation Of DE Board -+ +essversecarncrseennanns 153
3-8. Circuit Operation of DC Board:«++++++s+eeereeeerirsiiieniienn 157
3-9. Circuit Operation Of EBoard et reereereeremneniiniunianeanns 159
3-10. Circuit Operation Of PA Board «---+esveesrrearnereiecininnnnee 173
3-11. Circuit Operation of K Board::+++++-+-+eeeeererssnnreraanan 182
3-12. Circuit Operation of Y Board:-+:+eeoereereiseriieinennennennas, 183
3-13. Circuit Operation of KA Board -++++++eeeeeeseesiseesieniccnnn. 197
3-14. Circuit Operation of BC Board-«-«-«-++essseererereeniiaannnne 197
3-15. Circuit Operation of L Board --+++++=++sseeressmmemmeeninnnnnens 199
3-16. Self-diagnostics (Troubleshooting) «-+-+«++++eveeesssersueine 199
3-17. SOPS-1036 +++eceteersnereereraerunmmiiseessersenmnssssseseeeaseenns 205

—5—

Section Title Page
4. SET-UP ADJUSTMENTS
4-1.  Neck Assembly Installation -+« +oreeeereemeeneiaeieninnnin. 207
4-2. Display Inclination Adjustment by Main DY -++----- 207
4-3, Sub.DY Adjuatmcnt ........................................... 207
4-4. GREEN Lens Focus Adjustment «-=s-=sssseeseeeereenen 207
4-5. RED Lens Focus Adjustment ................................ 208
4-6. BLUE Lens Focus Adjustment:«««-----eseorvreeececinnnn. 208
4-7, GREEN 2/4-P°lc Adjustment ............................... 208
4-8. RED 2/4-Pole Adjustmcnt .................................... 209
4-9, BLUE 2/4'P0]C Adjustment .................................. 209
4-10. GREEN Electric Focus Adjustment:-------+++++eeeeeesesn 209
4-11. RED Electric Focus Adjustment:«««----+s=ssesseererrenss. 209
4-12. BLUE Electric Focus Adjustment:««-+-++---+-=sssse0reen. 209 -
4-13. Registration Adjustment -«eeeeeeeseneeniinii, 210
4-14. White Balance Adjustment ................................... 211
4-15. Y Board, IC4 (EEPROM) Replacement --+-+-<+-++x+ 213
5. SAFETY RELATED ADJUSTMENTS ------crvveeeeenene 215
6. CIRCUIT ADJUSTMENTS
6-1. BA Board AdJUStMEnt -+ +++serereeeerasrnniininiiie 219
6-2. E Board Adjustment-r«--++eeseemmeemmiiiiiniiniiiienennn. 221
6-3. DA Board Adjustment ......................................... 221
7. DIAGRAMS
7-1.  Circuit Boards Location «+----+tsteerrereeseecessernaernerann. 223
7-2. Quick Reference: --+-ccceetieimmiaiiiiiiiiiiiniiiiii, 224
7-3_ Block Diagrams ................................................. 225
7-4.  Schematic Diagrams and Printed Wiring Boards:-+---- 239
Frame Schematic Dlagram ................................... 240
BA Board:+«++-everreves e eetrerseeseneenatnieeernrraarnnenaenas 245
BB Board:-ccceecrerrreiiiiiiiiiiiiniiiiiiiiieiiieieniiiiionien. 260
BC, L and KA Boards s«---ceerereerorecrncnseneuninrniicanns 270
CA (B) BOArd ++++ereverererereessisicemssreessnssssesnnennns 275
BM and QM Boards ............................................ 280
CA (RG) BOard ++++ceesesersrrenrrrersrurseriiniiecierennanne 290
CBR, CBG and CBB Boards:+«++-«=ss++esrerssesseerrurnnes 299
CFA, CFB, NA and NB Boards-«-----:+++++sssesereereennns 303
DA BOArd «++eevervresrorvevruniniiniicrineenneeneesieessrennees 307
Y BOard e ceeeererercentisriesioaeinernreinreiretrtnrenerieiinennns 319
DB Board:«:  reeteeetrrereseasnniminiiniisieniinirierereenennenas 333
DC Board: «--+evreeereererreseenirorsoruerenecrnerenecnnesnnnns 342
DM BOard -« sreeererscessrteeretssioossonaneeeroreresserneenenes 352
DD Board <+ :eseeeertrettetnamiarieiiiriiiiiiiisniiiiitiiieeianans 359
DE Board: - «-tceteeererreteutainiiiiiiiiiiiiiiiieireiiieinennn 365
E BOArd reeevverecercestensrocrmresrenrrnnrmnrmarenesneeneeensenne 374
PA' PB and K Boards -« - seteetverearvnrrneiaiiiiinninecarnas 384
RC, RCA, RCB, RCC and RCD Boards-:+++++++++eereess 392
M1, M3A and C1 Boards ««+««+-c--sreverrnsmrnieernreninienns 308
M2 and C2 BOoards:++++++++s-seeeesereesirserserenvenersennens 404
7-5. SCmiCOﬂdUCtO[S .................................................. 410
8. EXPLODED VIEWS
Bo1.  LLEMS terreererrrrconcenaranernrerarreesunenecsseentenneenernsrnneren 413
8-2. ED BIOCK - -errtetveretertectiriererieereeeneneneeresernnsenaes 414
8-3. C Shield BlOCK: s+ ereerereerererreierrrreeeaenenerneenenenss 415
8-4. Base ] r-eceeetcerreeentertirtuentenrertnrerineerioneetnrrienneenanes 416
Base 2 cceevereerrerinrietiiieiiotnrrienaetnierrreersieerenseianne 417
8-5. Power Block ...................................................... 418
9. ELECTRICAL PARTS LIST ---oevvvrvrirmneeeiernnennnnn. 419



VPH-1%71Q

M-1271

SECTION 2

DISASSEMBLY
2-1. CABINET AND LENS REMOVAL @two lock screws *

®Open the control panel door ®Remove the upper board in the

*The lock screws cannot be removed direction of arrow

®two lock screws x
@Remove the front panel by releasing

the catches at five locations
location

location

®Remove the hood by releasing
the catches at two locations

@four lock screws * g

\@@"/f/\)

2-2. PICTURE TUBE REMOVAL @two terminal screws (M3 x 8)
@eight terminal screws (M3'x 8)

®Open the ED block assembly

lens spacer

HIGH VOLTAGE CABLE REMOVAL

@ Pressing cable, Turn 90°

@Pull out a high-tension lead
wire connected to HV BLOCK.

X

AN
Y

@ picture tube spacer < 7

(Dfour terminal screws (M4 x 8)
®CB board

@picture tube neck assembly

®picture tube neck assembly
@diflection yoke

®lens support

@ four flange nuts (M)

—117—



H-1271Q |

RM-1271

2-3. POWER BLOCK REMOVAL (PA, K AND NB BOARDS)

@eight connectors (PA-1~4, 6~9)

PA-7
PA board @ %

®two terminal screws
(M3 x 8)

®two connectors

®plate stopper (B)\Ql [%{ (K-2, 4)

®K board
@ connector

(NB-1 . .
. ) @two junction connectors

9/<©terminal screw (M4 x 8)

@Pull out the switching regulator

@®two lock screws (cannot be removed)

2-4. HIGH-VOLTAGE BLOCK ASSEMBLY REMOVAL

@two screws
@;crew (BVTP4 x 10) (BVTP4 x 10)

[\‘\
® high-voltage DC block assemt}%

@ Release the catches

at two locations and
remove the PB board

location

\%_/\" Mloosen two terminal
/ screws (M3 x 8)

® high-voltage DC block assembly

—118—



VPH-1%71Q

M-1271

2-5. INTERFACE UNIT, BA, BC AND BB BOARDS REMOVAL

@BA board

® B8 board
@two screws (B3 x12)

@ shield plate

®@three terminal
screws (M3 x 8)

INTERFACE unit

®two lock screws (cannot be removed)

shield plate

®three terminal screws (M3 x 8)

@connector panel holder

M three terminal screws (M3 x 8)

—119—



'ng-1271Q

RM-1271

2-6. CFA, CFB, CA(RG) AND CA(B) BOARDS REMOVAL

@ seven terminal screws (M3 x 8)

® connector (CFB-2)

@ Remove the shield cover

®three terminal screws (M3 x 8) in the direction of arrow ®

@CFA board

@three terminal screws (M3 X 8)
® four screws (BVTP3 x 10)

® connector (CAB-T)

®three pin cable ® nine connectors

(CAG-J1, CAR-J1, CAB-J1)

M terminal screw (M3 x 8)

@ Remove the CA (RG) board

in the direction of arrow®© ®Remove the CA (B) board

in the direction of arrow ®

@ connector (CAR-4)

@®two screws (BVTP3 x 10)

@CFA board

® connector (BM-8)

—120—

(CAR-1~3, CAG-1~3, CAB-1~3)



VPH-1271Q
M

-1271

2-7. Y,DA, DB, DM, DD AND DE BOARDS REMOVAL

Bshield o @three screws (BVTP3 x 10)
shield plate
\ \[\{ @three terminal screws (M3 x 8)

®four screws
(TTP4 x 18)
@Y board

®DA board .

®board holder @DB board
®three screws (ITTP4 x 16)
® shield case

®dust cover assembly

@®board holder

@C shield case

®plate (Q) ,/
S

®two screws —

®@two screws (B3 x 12) (BVTP4 x 30)

@DE holder

@ screws (ITTP4 x 16)

@®Remove the DM board
in the direction of arrow

DE board ®DD board DM board
ooy OM8  DM20 frimeemmes wm DM21
D23 W24 19 P OH25
"/ A
oMz DMg DWIB = D11
=9 S M7 g
— — []lu
DM31 DM10 \\ DH28
DM22 DM35
DM27
L 1L 3 ]

@Dnineteen connectors
(DM6~11, DM18~25, DM27~28, DM31, 35)

—121— ’



VPH-1271Q

RM-1271

2-8. M1, M2 AND M3A BOARDS REMOVAL

®case (B) assembly

2]
®three screws (PS3 x 6)\W/§\

@ four connectors

(CN151, CN252, CN254, CN255)\< >
— —* — /

sz ponse \r@//vf\\ @six screws (PS3 x 6)
CN151 |CN255'| ®four screws %/
N (M3 x 8) \
ﬁ/@' cN107  CN106
; @ seven connectors (CN103, CN104,
‘ ' CN104 gé{cmos

5 | CN106~CN108, CN111, CN52 (C1))
L o ®four screws (M3 x 8)
AR

CNSZ?

®M2 board & }@four connectors
(1~4)

@ four screws (M3 x 8)

@ M3A board

—122—



VPH-1271Q
AM

-1271

2-9. ATTACHMENT DIRECTION OF THE DC FAN

EXHAUST FAN

INTAKE FAN

BVTP4 x 30
PS3x 16

—123—



